
Q1) a) Fill in the blanks (Attempt any 5 out of 6) : [5]

i) The major problem of agricultural labour is _________.

(Less wages, high illiteracy rate, high capital, high standard of
living)

ii) Make in India initiative was launched by prime minister in _____.

(2017, 2020, 2014, 2008)

iii) Mainly ________ factors affecting industrial relations.

(Economic, political, social, cultural)

iv) The main economic characteristics of agricultural labour is ______

(seasonal employment, high standard of living, low income level,
high illiteracy rate)

v) _________ refers to all types of relationship between all parties
concerned with industry.

(General relations, political relations, human relations, Industrial
relations)

vi) The Industrial relation dispute act was passed in _______.

(1950, 1947, 1965, 1993)
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b) Match the following : [5]

i) National manufacturing policy a) New Industrial unit

ii) FPO's are related to b) Less wage

iii) Start up India c) Farmers

iv) Agriculture labour problem d) 2011

v) Make in India e) 2014

Q2) Write a short notes (any 2 out of 5) : [10]

a) Maharashtra Industrial policy 2019.

b) Problems of agricultural labour

c) Industrial relations in changings scenario

d) Types of agricultural labour

e) Water management Intiatives

Q3) a) Explain in detail the problems of agriculture labour. [8]

b) Describe the historical background of Industrial relations. [7]

Q4) a) Explain in detail the impact of climate resilience on agriculture. [8]

b) Write a detail note on Impact of covid-19 pandemic on Indian
agriculture sector. [7]
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àíZ àíZ àíZ àíZ àíZ 1) A)A)A)A)A) [aH$må`m OmJm ^am …[aH$må`m OmJm ^am …[aH$må`m OmJm ^am …[aH$må`m OmJm ^am …[aH$må`m OmJm ^am … [5]

i) .............. hr eoV_Oyam§Mr _w»` g_ñ`m Amho.

(H$_r doVZ, Cƒ {ZajaVm Xa, Cƒ ^m§S>db, Cƒ amhUr_mZ)

ii) n§VàYmZm§Ûmam _oH$BZ B§{S>`m ............... `mdfu gwê$ H$aÊ`mV Ambr.

(2017, 2020, 2014, 2008)

iii) _w»`V… Am¡Úmo{JH$ g§~§Ym§da ............. KQ>H$ n[aUm_ H$aVmV.

(Am{W©H$, amOH$s`, gm_m{OH$, gm§ñH¥${VH$)

iv) eoV_Oyam§Mo à_wI Am{W©H$ d¡{eï>ço ................ ho Amho.

(h§Jm_r amoOJma, Cƒ amhUr_mZ, {ZåZ CËnÞ Xa, Cƒ {ZajaVm Xa)

v) CÚmoJm§er g§~§{YV {d{dY njm§ _Yrb g§~§Y `mg ............... Ago åhUVmV.

(gm_mÝ` g§~§Y, amOH$s` g§~§Y, _mZdr g§~§Y, Am¡Úmo{JH$ g§~§Y)

vi) Am¡Úmo{JH$ g§Kf© H$m`Xm .............. `mdfu g§_V H$aÊ`mV Ambm.

(1950, 1947, 1965, 1993)
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~)~)~)~)~) `mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm … [5]

i) amï´>r` {d{Z_m©U YmoaU A) ZdrZ Am¡Úmo{JH$ KQ>H$

ii) FPO's Mm g§~§Y ~) H$_r doVZ

iii) ñQ>mQ>© An B§{S>`m H$) eoVH$ar

iv) eoV_Oyam§Mr g_ñ`m S>) 2011

v) _oH$ BZ B§{S>`m B©) 2014

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm …{Q>nm {bhm …{Q>nm {bhm …{Q>nm {bhm …{Q>nm {bhm … [10]

A) _hmamï´> Am¡Úmo{JH$ YmoaU 2019

~) eoV_Oyam§À`m g_ñ`m

H$) ~XbË`m n[apñWVrV Am¡Úmo{JH$ g§~§Y

S>) eoV _Oyam§Mo àH$ma

B) Ob ì`dñWmnZ CnH«$_

àíZ àíZ àíZ àíZ àíZ 3) A) eoV_Oyam§À`m g_ñ`m g{dñVa ñnï> H$am. [8]

~) Am¡Úmo{JH$ g§~§Ym§Mr Eo{Vhm{gH$ nmíd©̂ y_r {deX H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) hdm_mZ ~XbmMo H¥$fr joÌmdarb n[aUm_ ñnï> H$am. [8]

~) ^maVr` H¥$fr joÌmdarb H$moamoZm-19 _hm_marMo n[aUm_ `mda {Q>n {bhm. [7]
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